SAVANT
MPFG.,INC.

5/16 x 2 3/4 Bolt

5/16 x 2 Bolts

5/16 Small Flat Washer (Sae.)
5/16 Locknut

1/4 x 1/2 U Bolt

1" Plugs
1/4 Sea. Flat Washer 5 2 9
1/4 Locknut

529-BRK (Pair a right & left)
3/16 x 1 1/4 Flat Bar x 2 1/2" Long with .

ITOMMOUO >
[ L | T I VR [ 1

N_o0oooNMooNN

4=5/16 X 1 BOLTS
8=5/16 USS WASHERS

ON SOME OF THE NEW MOD-

ELS OF POLARIS THEIRWILL gqe
BE A SQUARE CHANNEL ON

THE REAR RACK SUPPORT.

IF YOUR BIKE HAS THIS USE
THE 4=5/16 X 1BOLTS AND

THE 4=5/16 LOCK NUTS ALSO @ \E)
THE 8=5/16 USS LARGE

WASHERS.

BOLT IN THESE HOLES IF YOU HAVE THE CHANNEL TYPE SUPPORTS.

This rear rack fits on top of the original rack and bolts up to the front an to the back bar that are going
downward to the frame.



